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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempiting gquestions :
There are EIGHT questions divided in two SECTIONS and printed boih in HINDI and in
ENGLISH.
Candidate has to aitempt FIVE questions in all.

Questions no. 1 and 5§ are compulsory and out of the remaining, THREE are to be atiempied
choosing at least ONE from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers wriiten in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suttable data, if considered necessary, and indicate the same clearly.
Attempts of questions shall be counted in chronological order. Unless struck off, attempt of a

question shall be counted even if attempted parily. Any page or portion of the page left blank in the
answer book must be clearly struck off.
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Q1.

Q2.

T igs A
SECTION A

Fefefga w wigm fewfini fafae, s g o 150 wisel © &

(a) WA IR gareAl ) fafim Sfel & ol CENVAT 38R &1 @9 39M
I |

(b) TR giEaREr 3t o4 $i a@r sigg 1 I e |

(c) EAFTG-ATA-eNY favemvr & qaigae 3R qiEfund |

(d) v el giEad &1 Teds ’ha1 SITAT 8, 9 qoasid o He9u o 5y 3
AT @ HIh! shi ST |

(e) mmﬁ#wwﬁ%mé@mﬂmwﬁﬁﬁi

Write short notes on the following in about 150 words each : 10x5=50

(a)  Conditions for availing of CENVAT credit under various categories of
goods and services.

(b) Intangible assets and their treatment in the books of accounts of a firm.
(¢)  Assumptions and limitations of Cost-Volume-Profit analysis.

(d) Provisions of Indian Accounting Standards regarding treatment of
depreciation when an asset is revalued.

(e)  Audit procedures to detect cash defalcations.

(a) Ifamg Uewmeaw fofies 4 1 SHad 2008 1 o et T 100 @@ &
fes=r (Forgw) ot fpu & | fesi=ml =1 31 femmsm 2012 = Wifye (vifm)
fra s R | frfe )o@t F qofvs S $ R o fes= A (M)
Fierd A =1 Tenfid s sraeass @ | frim & =nfean & i % g =
10% 9f s & e afiwa o1 o™i+ S s R |
() 3 a9 W fed=li & qof d@ieq (IeF) w0 ghftea @ & foe, gfa
9§ Tamh (emw) ¥ i i oM Tl of = v =1 @ g
TR |

(i) 5 a9 & fore, Tes=r @em (Wya) A S 1 ey SR fifv |
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(b)

(c)

(a)

(b)

(c)

Q3. (a)

Hrarg 3t oTavime arre-fFaten & ity SR 3t STl % WY 3
&= fleT FifvT | 39 ST 3T afeied weE § 7

TEmET o w agREiee sl % ofit IR T % g VeW Han He
Y ge TH 3 A TR E |

Arvind Enterprises Ltd. had issued Debentures amounting to ¥ 100
lakh on 15 January 2008. The Debentures are to be redeemed on
315t December 2012. In terms of the issue the company is required to
create a Debenture Redemption Reserve Fund. The Trustees of the issue
expect to earn a net return of 10% p.a. on investment of the fund.

(i) Ascertain the amount to be appropriated from profit every year to
ensure full redemption of Debentures at the appropriate time.

(ii) Draw up Debenture Redemption Fund Account for 5 years.

Define and distinguish between marginal and absorption costing with
examples. What are their uses and limitations ?

Explain whether services provided by a Veterinary clinic and Yoga
establishment are exempt from service tax.

st 3T 3R T Il TF IR FH H Geier § | e 9d 2011 -12 %
e g (en) & 3 &80 shEe: T 50,000 3K T 30,000 & |

ST AT 92 Radie s ITel U 37 BH % Al H SIRgd T forE
T, e 3o A % T % w9 T 45,000 3R ISt W =W 5 FC G
T 1,20,000 T8 3C | $Sit 1 Faw i i et iy 9 @ foen mn en,
St Ha ARt T 10,00,000 5 356 == § §H 5 9 A W 53 off |

off SEes & IW H UH W 01.12.2011 I TAH Ufdwe W IHhH IS =
sratta femen T o1 | Q@ focflg ad 2011 - 12 § Tufa i T 50,000 F AR

fortre 9T fe=m = o |

ws Hiffm ot & T 2,00,000 3 T 2,64,000 F Ui = @7 o
g HI: ol 3 3R 3G Teh F Am TR M 9, AR W T S
10% 9fd o¥ 2 | sfinct o1eie farma wa d 3wt 3w § ¥ F1,00,000,
oft aremes % T # fea=r wlilen & forw, saot siafa =t gt off |

a9 2008 — 09 # #ft a0 7, fomn fomeft wfowar &, T 1,50,000 $fiwet 37ies
% AW 3aia = ey 9, R 39 & o X = 3ur 2 o | e fefm
aul o St 3o T TAfRT = $ ¥ # T 60,000 A oy, Rrgenr o
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(b)

(a)

ft X =t 3um ¢ e m | o =¥ 2011 - 12 & dwm, dimdt ot =i
¥ 2,10,000 % 34N W 10% Nfd a9 % G0 & =0 W9 527 |

off o 3 ¢ 1,50,000 T T I aia U | Sus Fow 9 gggm o
$a et T 15,000 5 | 398 € T 10,000 §8 92 I Ut % @9 % fw
3R T 5,000 I5P A Gia-gifei o oy < fog s fmen smem |

o 99 2011 - 12 & € o 379es oK fimdl 319 6 oo @ 3y
1 Giiehe shifvg |

= TE 33T Fire, R e w % e ¥ R 7w qeie
Y B | Ty B U el & ervare) i off sgw ifs |

Mr. Asoke and his wife are partners in a trading firm. Their respective
shares of profit for the financial year 2011 - 12 were ¥ 50,000 and

T 30,000 respectively.

Their minor son has been admitted to the benefits of another firm
manufacturing toys from which he received ¥ 45,000 as share of profit
and ¥ 1,20,000 as interest on capital. The capital was invested out of the
minor’s own fund gifted to him by his uncle amounting to ¥ 10,00,000.

A house in the name of Mr. Asoke was transferred to his wife on
01.12.2011 for adequate consideration. The property has been let out
throughout the financial year 2011 — 12 at a monthly rent of ¥ 50,000.

Non-convertible debentures of a limited company of ¥ 2,00,000 and
T 2,64,000 were purchased three years ago in the names of Mr. Asoke
and his wife respectively, on which interest is payable at 10% p.a.
Mrs. Asoke had in the past transferred ¥ 1,00,000 out of her income to
Mr. Asoke for purchase of debentures in Mr. Asoke’s name.

Mr. Asoke had transferred ¥ 1,50,000 to Mrs. Asoke in the year
2008 — 09 without any consideration, which she lent out to one Mr. X.
Mrs. Asoke earned ¥ 60,000 as consolidated interest during earlier
financial years, which was also given on loan to Mr. X. During the
financial year 2011 — 12 Mrs. Asoke received interest @ 10% p.a. on the
loan amounting to ¥ 2,10,000.

Mr. Asoke transferred ¥ 1,50,000 to a Trust. The income accruing from
its investment amounted to ¥ 15,000, out of which T 10,000 shall be
utilised for the benefit of his elder son’s wife and ¥ 5,000 for the benefit

of his minor grandchildren.

Calculate Gross Taxable Income of Mr. Asoke and Mrs. Asoke for the
financial year 2011 — 12.
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Q4.

(b) Mention the cases where valuation of house property for purpose of
income tax shall be NIL. Also mention the exceptions to such rules, .

@  FF. T Rifits 3R 49 el % Rfw R i e g
2 | Y gheviag (= g s o 3 e FEESEl B S od &
918, 31.03.2012 W WA ¢ ¥ % U amu-giv @ IR A & A

Freferiga e St ot Sifom &9 femn S 2
(& &R )
s i i
ferfsrat 26681
a6 v 14872
I IR AAGHAT (FRGT) 480
wfereg fAfY it wearor @=t @) oiviel
HITRI % forg 96
HETE 6 & Y 218
TR ST STRETOT
FRTAT War 5
T3 ik aefiad 90
3UgHEl % T gragm 26
EIE] 6
39T 77
geu 3R AE-amiET 26
RIERD 47
TG IR IR AT 1027
wIfh, oot o7t 9 1361
IRf W (ieh) 883
3ifem wrel (&ieh) 2054
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Heag™

I 3R wEe 901

T 3 3 HEad TRaaraat 60
EElECH 281
Sfp gmafe 3868
I R ™ 1125
Terorm, R, R o sfm

FREH % 100

S % oY 94
o o =R 39
& 3R B 10
S TR 9
oy == 92
Faw fefseat 8
ST g fertran 12
et w sfiia s 60
qiEgfEl i o3 9 TATE 20
Tafaey it 39

ffefaa =1 dieem Hifsg ot eroht Roafirt FHifs -
(i) A A I
(i) SR AR I
(iii) AT ATESIEA ST
(b) “Traiers Hu % I fGawon B T T @ 9o 9 Ha Yehe T B,
7 fop Torawont <1 rem-3tem wel | 17
IeTEvil |fgd IT B I TIE HIRT |

(¢) AEHHH & YIS & o, GiEd] = GUgu i Ard %1 Uh Qe ol
- ¥ TR § qediehd ST T1fe ?
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(a) KKC (P) Limited is engaged in manufacturing and selling components of
television sets. After drawing up Trial Balance and making necessary
adjustments the following account heads are finalised for drawing up
Profit and Loss Account for the year ended 31.03.2012 :

(T in thousands)

Account Heads Amount
Sales 26681
Cost of materials 14872
Salaries and Wages (factory) 480

Contribution to PF and Welfare Expenses
For workers 96
For office staff 218

Repairs and Maintenance

Office premises 5

Plant and Machinery 90
Provision for gratuities 26
Interest 6
Consumables _ 77
Printing and Stationeries 26
Travelling expenses 47

Import and Transportation Costs 1027

Power, Electricity and Oil 1361
Opening Stock 883'
Closing Stock 2054
Depreciation

Plant and Machinery 9201

Building and other office assets 60
Wastages 281
Paic]s:ing materials 3868
Salaries and allowances 1125
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For factory 100
For office o4
Advertisement and Publicity 39
Postage and Telephones 10
Bank charges 9
Miscellaneous expenses 92
Scrap sales 8
Rent received 12
Interest earned on investments 60
Profit on sale of assets 20
Miscellaneous receipts 39
Calculate the following with your comments :
(i)  Gross profit ratio
(ii) Operating profit ratie
(iii) Interest coverage ratio
(b) “An auditor expresses an opinion on a company’s financial statements
taken as a whole, not on individual items on the statements.”
Explain the above statement with examples.

(¢) How should an auditor evaluate cost of gathering evidences for purpose

of

Rent, Rates, Taxes and Insurance

audit ?
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s B
SECTION B

Fr=fafgs w aftm feoftmi fafeae, S Tes @ 150 w6l | &

(a)  STUTTSYeh Sohl shi shel TRl 3T ¢aar SRusaaisy & o= 9f= & @
S[g Siifign ofR SWYEd W TTE St 51 37 Sifgmi 1 =Aadie |

(b)  HHI = TThel Y ¥ TE-Ua SIS o THhel-BE0Q THisd, fer ot IR Aisa
3 W #iEga % = faveT |

(c) Uomiifeis =man 8§ Freavr oiR ager, S8 6 Ot 3 3961 yoiy feen 2 )
() T A S R R IR sk A foshfia feRn 7
(e) Yoft = Fmfel & Ye-oti fored |
Write short notes on the following in about 150 words each : 10x6=50

(a)  Risks associated with variation between loan maturities and liability
maturities of commercial banks and minimisation of these risks without

affecting profitability. 10

(b)  Distinction between Baumol’s Cash-EOQ Model, Miller & Orr Model and
Stone Model pertaining to cash management of firms. 10
(c) Checks and balances in Algorithmic Trading as provided by SEBI. 10
(D Information ratio as developed by Treynor and Black. — - i
(e)  Trade-off theory in capital structure decisions. 10

3. (a) “G0 foRiE EET % gfomeeaE g % fAT oFes AU @ gt
(geaad W) 1 WigHia g & |7
HU-Y-HE QW IS W == hif ot urdia fiod de & Aifes fift w
3 TG T faveror i |

(b) “Sepi I THI-IMURG JARGF AGTIRAT o HFhlOo (o TEemsdi <l
qREaRI-eNgTiE ARGV AEvashar, Hifgs ifd oo 3 fraew 6 Jwum o,
SHIHI HHT T, HIOR & Fhat & 17

3T HH F GUTARATHS (9990 Hifsy 3R eFl gonferal & Iifshed 3
FYTCHHATST T I HifeT |
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(c)

(d)

(a)

(c)

(d)

Q7. (a)
(b)

(c)
(d)

aTifsYes denl @ fafvm syl Faw = affeto i |y & sga Sl
% s qouiea e yer RRn Smar 3 | feae aRfRkEl & sidfm
et i e Soft @ Rt ot Soft R tftreE <Al getea @ ST & 7
ROA 3fit ROI <1 uftwnmen €ifSe it 7% s fydien Shifvig | 37 &) orumdi =
3 Tl A fEe Hifv it 3 ¥ v w1 s fif |

“Rapid financial innovations have led to the emergence of several new
near substitutes for money.”

Discuss at least two such instruments and analyse their impact on the
monetary policy of RBI.

“Asset-based reserve requirement of financial institutions as against
deposit-based reserve requirement of banks can go a long way in
preventing slippage in monetary policy transmission.”

Critically analyse the statement and discuss the mechanism and
modalities of the two systems. '

Classify various securities investment of commercial banks. Also
mention how these are valued. Under what circumstances is migration
of securities from one category to another allowed ?

Define and distinguish between ROA and ROIL. Decompose these two
ratios into other ratios and interpret each of them.

g S Gider e BaT ® ?

% o drEar 2 6 38n yoR o i & g aqam 250 e fagat |
AT ferega & Sma |

A <ffie o arfimmares of © 10 @@ ? iR ifiew #Rs 5 B | Ak
e aiiE W 39N TER 325 IMUR fagadi % W 33 QAT 190 IR

fargeti o 9 PR SITe, at Fewe & g Reaet Uit wre/< ghf 2
CAPM % frpdial o 21efi=, ‘wfayfa sToR T@r i 3¢e |ied T8 g |

“Trow @7 aut ¥ IPO & YHiEAR eated =1 faveme goifar & 76 som &
qET= 9aq % o aarEed @ % S e of, d-fueE adsfe ein e
TERA S | AR o ® 9 | 38 giomeEsy Faws 9 PO Fasi w

Wi w Y|

Y T o NS % HHON 9T == hiey AR 39 qRfeyfa & S=m % o gt
T 331 T fafirs Seni w1 gueieHeEs faveye i |
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(a)
(b)

(c)

(d)

(a)

b)

What is a Credit Forward Contract ?

An investor thinks that the credit spread will widen to more than the
current 250 basis peints for an issue.

Assume the notional amount is ¥ 10 lakh and the risk factor is 5. What
shall be the amount receivable/payable by the investor if credit spread
on settlement date rises to 325 basis points or goes down to 190 basis
points ?

Explain ‘Security Market Line’ with illustration under the assumptions
of CAPM.

“An analysis of the performance of IPOs post-listing in the last three
years shows that two-thirds of the public issues were trading below their
listing price even after adjusting for the general decline in the market.
This has resulted in investors losing money on their IPO investments.”

Discuss the reasons behind such a state of affairs and critically analyse
various steps taken by SEBI to remedy the situation.

. S ' 99 8H 4, SEEW F dR W, 0-53 F e 9% I % g
frefafaa stiewgl %1 seamre o6 o

1 0-11 0-05 0-091
2 0-17 0-07 0-110
3 (0-02) 0-06 0-024
4 0-25 0-08 0-234
5 0-18 0-06 0-132
6 0-28 0-07 0-275
7 (0-08) 0-07 0-121
8 0-27 0-09 0-292
9 0-14 0-07 0-105
10 0-00 0-08 0-077

Hied quIisy AR sfiel W 3 & fog forega afterem Sl |
9 R TTH e &1 e Hif |
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(¢ Tafm ==or = Bian R 2 Safal e o w0 fafm = 1 friw ot 2 2
STE UE e TR ST R, 9 qenen aREaied) s hivd 9 SHRT o ST
T B 8 ?

(a)  Prof. James C. Van Horne, by way of example, used the following data to
arrive at a Beta of 0-53.

Period | Market Return | Risk-free Return | Stock Return

1 0-11 0-05 0-091

2 01T 007 0-110

3 (0-02) 006 0024

4 0-25 0-08 0-23¢ |

5 0-18 . 0-06 0-132

6 0-28 0-07 0-275

7 (0-08) 0-07 0-121

8 0-27 0-09 0-292

9 0-14 0-07 0-105

10 0-00 0-08 0-077

Show the model and make detailed calculations to arrive at the Beta. 30

(b)  Interpret the Beta so arrived at. 5

(¢) What is Exchangeable Debt ? When and why do companies issue
Exchangeable Debt ? What is the likely impact on the price of
underlying assets when such an issue is made ? 15
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